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Multiplying with a Numberline Name:
Use the numberlineto solve each problem. Answers
1 3x5= 0 10 20
1 [ AR RN R R [T I [ R [T R N ]
T T T T ] T T T T I T T T ] T T T T l
Ex3=
2.
2 3x7= 0 10 20
A E B e e e e e ————+—+—"+—"+—"1+ || 3
7x3=
4,
3 o2x8= o0 10 20
| | | | | | | | | | | | | | | | | | |
T T T T ] T T T T I T T ] T T T T I 1
8x2= 5.
4) 4x9= 0 10 20 30 40 6.
Lo v v v v v v b v v r v v br g [N T T T T O A O
O O I O O I L L L L
Ox 4= 7.
5 4x2= 0 10 8.
| | | | | | | | | | | | |
] ] ] ] ] ] ] I ] ] ] 1
2%x4=
9.
6) = 0 10 20
4x4 | | | | | l | | | | | | | | | | [ | | 10.
T T T T | — T T T 1 T T T T 1 1
4x4=
11.
) 3x2= 0 10
| | | | | | | | | | | | | | | |
I T T T T ] T T T T I T T T T |
2x3=
8) ax6= 0 10 20 30
e v v e ber oo g I T I [ T T
N N I Y N Y N Y N Y BN Y B N B T T 11 L
6x4=
9 ox3= o0 10
| | | | | | | | | | | | |
T T T T ] T T I T T T 1
3x2=
10) 5x9= 0 10 20 30 40 50
Ox5=
11) 2x5= o 10
| | | | | | | | | | | | | | | |
] ] ] ] ] ] ] ] ] I ] ] ] ] ] 1
Ex2=

[ M ath ] www.CommonCoreSheets.com

82|73]64(55(45]|36]|27[18] 9 |




-

Multiplying with a Numberline Name:. Answer Key
Use the numberlineto solve each problem. Answers
1 3x5= 0 20
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